RURAL WORKS DEPARTMENT



GOVERNMENT OF BIHAR

NAME OF ROAD:-

JALIL MISTRI KE GHAR SE NITYANAND KE GHAR TAK.

DIVISION:-

R.W.D, WORKS DIVISION, FORBESGANJ

CIRCLE:-

R.W.D, WORK CIRCLE, KISHANGANJ

BLOCK:-

RANIGANJ

ESTIMATED COST

2124990.00

	Inspection Report for flood damage work
Date:	pwo Forbesgai
1.Name of PIUs-	K Co D 1 or Ses A con
	Road- Panigaci
A.For Rond	Jalil mistri ke ghow Se nityanand tee. Chentale.
1.Damage Locati	on/Chainage: 400 x 600 mm.
2. Damage Lengl	1 : 26+27 = 53mM
3. Nature of Dama	age
4. Details of Resto	
i Material bei	ng used in Restoration : Local Send . Fe be ge friend
ii Equipment/	Fools being used in Providential Providentia
iii Procedure ta	ng used in Restoration Fools being used in Restoration works: Seed only to ceeder the dry Ength Filling all Cute Property in darrage Aca.
iv Restored Le	enath : Was don't receive to my
	: filling all Cute Property in
B. For Bridge	darrage Ara.
l.Damage Location	on/Chainage
2. Damage Lengh	on Chanage:
3.Nature of Dama	
4.Details of Resto	wration
i Material bei	ng mad in Destauration
ii Equipment/1	Code being und in Barrell
iii Procedure ta	ken up in Postantian works:
iv Restored Le	oration ng used in Restoration Fools being used in Restoration works: ken up in Restoration works ngth
Isomored Le	:)

Signature of JE/AE/EE

DIN/NO

Signature

(Name of Inspector)

Abstract of Cost

Name of Work: Estimate for Repairing/Restoration/Making Motorable Roads

Damaged during flood in 2020 in ARARIA District

Name of Road:

JALIL MISTRI KE GHAR SE NITYANAND KE GHAR TAK.

Block: RANIGANJ

District: ARARIA

Divison: RWD, Works Division, FORBESGANJ

Circle: RWD, Work Circle, KISHANGANJ

SI No.	Description	Unit	Quantity (m3)	Rate (Rs)	Amount (Rs)
l	Filling of local sand obtained from river bed, watering & ramming, all complete job as per specification & direction of Engineer-in-charge.				
		Cum	653.00	627.77	409933.81
2	Labour for cutting 62mm to 75mm dia bamboo piles to size and making shoes & driving by jet machine etc. all complete job as per specification & direction of Engineer-in-Charge.				
		Mtr.	1107.00	75.86	83977.02
3	Labour for fitting & fixing 62mm to 75mm dia bamboo runners in position at every vertical pile with 150 mm long nails or 38 swg G.I wire including cost of G.I wire or nails etc all complete job as per specification & direction of Engineer-in-Charge.				
		Mtr.	396.00	40.06	15863.76
4	Supplying of EC bag, filling of local sand, stitching and placing in position as per the direction of Engineer-in-charge.	Weil	330.00	40.00	13603.70
		Per Bags	37149.61	37.35	1387538.09
	TOTAL AMOUNT :			***************************************	1897312.68
	ADD 12.00 %GST=				227677.52
107	SAY TOTAL AMOUNT :	=			2124990.20

2124990.00

E.

RWD SUB DIVISION-RANIGANJ

AE RWD SUB DIV. RANIGANJ

RWD WORKS DIV. FORBESGANI

on law twenty four thousand Home hindred Kinety) only

SE KISHANGANI Superintending Engineer Rural Works Department Works Circle, Kishangani

Detailed Estimate

ame of Road:

JALIL MISTRI KE GHAR SE NITYANAND KE GHAR TAK.

Items of Works	Nos.	L (m)	B (m)	D (m) IN (Av.)	Quantity (m3
		The second second			
Filling of local sand obtained from river bed,					
watering & ramming, all complete job as per					
specification & direction of Engineer-in-charge.					
	1	26.00	(6.00+7.00)/2	2.00	338.00
	1	27.00	(6.00+7.00+4.50)/3	2.00	315.00
			•	TOTAL=	653.00
				Total Qty =	653.00
Labour for cutting 62mm to 75mm dia bamboo piles to size and making shoes & driving by jet machine etc. all complete job as per specification & direction of Engineer-in-Charge.					
& uncedon of Engineer	2	39.00	3.00	3.00	702.00
	2	27.00	2.50	3.00	405.00
Labour for fitting & fixing 62mm to 75mm dia				Total Qty =	1107.00
with 150 mm long nails or 38 swg G.I wire including cost of G.I wire or nails etc all complete job as per specification & direction of Engineerin-Charge.					
	2	39.00	3.00		234.00
	2	27.00	3.00		162.00
				Total Qty =	396.00
Supplying of EC bag, filling of local sand, stitching and placing in position as per the					
direction of Engineer-in-charge.	2	17.00	0.80	1.50	40.80
	2	13.00	(2.30+1.00)/2	1.50	64.35
	2	26,00	(6.00+7.00)/2	1.50	507.00
	2	27.00	(6.00+7.00+4.00)/3	1.30	397.80
	1	21.00	(3.00+1.00)/2	1.00	42.00
				TOTAL	1051.95
		Т	otal No. of EC Bass	TOTAL=	
<u> </u>			otal No. of EC Bags	=(1051.95X35.315) SAY NO OF BAGE=	37149.61 37150
100		MAE AE	7	JAT NO OF BAGE	3/130

RWD SUB DIV- RANIGANI

RWD SUB DIV. RANIGANI

EE RWD WORKS DIV. FORBESGANJ

Analysis for Cartiage by Road & Rail Restoration of road from Himman (Howk to rampur road to direa mandir via

Block :- Forbesgant

NAME OF ROAD:

Araria

District:

Total 1 189 18 Cont by Rail Londing & Univading 65 201 309 64 188.21 102 59 6596 189 26 0.88 x 25.43 x 1.00 Km = Rs 20.34 # Rs 32.34 = Rs 0.00 x 18.19 × 0.00 Km » Rs 0.00 x 18.19 x 0.00 Km = Rs 0.00 x 1919 x 0 00 Km - 85,000 8.00 x 25.43 x 1.00 Km = 6.29 x 25.43 x 1.00 Km = 6.29 x 18.19 x 0.00 Km = 8.00 x 25.43 x 1.00 Km = 10.00 x 25.43 x 1.00 x 25.43 x 25.43 x 1.00 x 25.43 x 8.00 4.99 4.99 x 348.00 Km ± Rs 4195.53 x 20,00 Km = Rs 211 12 x 55.00 Km = Rs 663.09 x 8.00 Km = Rs 165.55 x 25.00 An = Rs 188.00 x 8,00 Km = Rs 165 55 x 16.27 x o5 00 Km = R9 846.04 Pucka / Surface × 7.52 x 16.27 x 16.27 x 7.52 Source Mirzachowki Mirzachowki Forbesgani agdishpur Birpar Local 1000 Nos Local Cum Cum Cum ΣΣ ž Cum Stone Metal Gr-18/GSB (Pakur by Rad 259 Km) form with Source 13 Hume Pipe (1000 mm) Stone Metal Gr-III/GSB Course Sand Local Sand 9 Cement Brick 四是 W

Rs 497 64

Ks 942.57

Ro 4298 12 Rt. 100: 40 9.8 JB4 10

Min Total

Per Ton. Km by TRUCK Per Ton. Km by TRACTOR Cost of Haulage Excluding Loading & Unloading as per SOR

Type of Road

Unsurface Gravel Road

For Surface Road

ć

16.27 20.33 25.43